SPCS

Form 4 Principles of Accounts

Notes on Chapter 21

Bad and Doubtful Debts – Part I
21.1 Bad debts

If a firm finds that it is impossible to collect a debt, then that debt should be written off as a bad debt.  This could happen if the debtor is suffering a loss in business, or has gone bankrupt and cannot pay the debt.  A bad debt is therefore an expense of the firm.

New Term:

Bad debt

- A debt which the debtor will not be able to pay.

Example 1
We sold $50,000 of good to K. Lee on 5 January 2005, but he became bankrupt.  On 16 February 2005, we sold $240,000 of goods to T. Young.  He managed to pay $200,000 on 17 May 2005, but it became obvious that he would never be able to pay the final $40,000.

When we draw up the final accounts to 31 December 2005, we decided to write these off as bad debts.

Accounting entries needed:

	(A) To transfer the amount of unpaid debt to Bad Debts account.

(B) To reduce the liability of the debtor who is unable to settle the debt.
	Debit: Bad Debts account

Credit: Debtors account

	(C) To record the amount of bad debts of the period concerned.

(D) To transfer the amount of bad debts to Profit and Loss account.
	Debit: Profit and Loss account

Credit: Bad Debts account


	K. Lee

	2005

Jan 5
	Sales
	$

50,000
	2005

Dec 31
	Bad Debts
	$

50,000

	
	
	50,000
	
	
	50,000

	
	
	
	
	
	


	T. Young

	2005

Feb 16
	Sales
	$

240,000
	2005

May 17
	Cash
	$

200,000

	
	
	
	Dec 31
	Bad Debts
	40,000

	
	
	240,000
	
	
	240,000

	
	
	
	
	
	


	Bad Debts

	2005

Dec 31
	K. Lee
	$

50,000
	2005

Dec 31
	Profit and Loss account
	$

90,000

	“ 31
	T. Young
	40,000
	
	
	

	
	
	90,000
	
	
	90,000

	
	
	
	
	
	


	Profit and Loss Account for the year ended 31 Dec. 2005  (extract)

	
	
	$
	
	
	$

	Bad debts
	
	90,000
	
	

	
	
	
	
	
	


Exercise 1
On 1 January 2007, the following balances appeared in the sales ledger of S. Lee:






    $

D. Fung




200

C. Chang



120

During the year, the following events took place:

Feb. 1
After negotiation, Lee agreed to accept $150 cash from D. Fung and regarded the remaining balance as irrecoverable.

Mar. 10
C. Chang was declared bankrupt.  A cash payment of 30% of the debt was received.

Show how these matters would be recorded in Lee’s ledgers for the year ended 31 December 2007.

	D. Fung

	2007

Jan. 1
	Balance b/f
	$

200
	2007

Feb. 1
	Cash
	$

150

	
	
	
	Feb. 1
	Bad Debts
	50

	
	
	200
	
	
	200

	
	
	
	
	
	


	C. Chang

	2007

Jan. 1
	Balance b/f
	$

120
	2007

Mar. 10
	Cash ($120 x 30%)
	$

36

	
	
	
	Mar. 10
	Bad Debts
	84

	
	
	120
	
	
	120

	
	
	
	
	
	


	Bad Debts

	2007

Feb. 1
	D. Fung
	$

50
	2007

Dec. 31
	Profit and Loss account
	$

134

	Mar. 10
	C. Chang
	84
	
	
	

	
	
	134
	
	
	134

	
	
	
	
	
	


21.2 Provisions for bad debts

Example 2
K. Chow started a business in 1 January 2000.  He has sold goods for $50,000 and they cost him $36,000, so his gross profit was ($50,000 - $36,000).  However, included in the $50,000 sales was a credit sale to C. Ying for $250.  C. Ying has died, leaving no money, and he had not paid her accounts.  The $250 debt is, therefore a bad debt and should be charged in the profit and loss account as an expense.

Besides that debt, a credit sale of $550 on 1 December 2000 to L. Hoi is unlikely to get paid.  Chow cannot yet certain about this, but he had been told by others that Hoi had not paid his debts to other businesses.  As Chow had given three months credit to Hoi, the debt is not repayable until 28 February 2001.  However, the final accounts for the year 2000 are to be drawn up in January 2001, because the bank wants to see them.  Chow cannot wait until after 28 February 2001 to see if the debt of $550 owing by Hoi will be a bad debt.

What can Chow do? When he shows the bank his final accounts, he wants to achieve the following objectives:

(a) To charge as expenses in the profit and loss account for that year an amount representing sales of that year for which he will never be paid.
(b) To show in the balance sheet as correct a figure as possible of the true value of debtors at the balance sheet date.
Chow can carry out (a) above by writing off Ying’s debt of $250 and then charging it as an expense in his profit and loss account.

For (b) he cannot yet write off Hoi’s debt of $550 as a bad debt, because he is not certain about it being a bad debt or not.  If he does nothing about it, then the debtors shown on the balance sheet will include a debt that is probably of no value.  The debtors on 31 December 2000, after deducting Ying’s $250 bad debt, amounted to $10,000.

	K. Chow

Trading and Profit and Loss account

for the year ended 31 December 2000

	
	
	
	
	$
	$

	Sales
	
	
	50,000

	Less: Cost of goods sold
	
	
	36,000

	Gross Profit
	
	
	14000

	Less: Expenses:
	
	
	

	          - Other expenses
	
	5,000
	

	          - Bad debts
	
	250
	

	          - Provision for bad debts
	
	550
	5,800

	Net Profit
	
	
	8,200


	K. Chow

Balance Sheet

as at 31 December 2000 (extracts)

	
	$
	$
	
	
	

	Debtors
	10,000
	
	
	
	

	Less: Provision for bad debts
	550
	9,450
	
	
	

	
	
	
	
	
	


New Term:

Provision for bad debts

- The estimated amounts for debtors, who will be unable to pay their accounts, at the balance sheet date.

Exercise 2
On 30 September 2007, T. Young’s debtors totalled $12,000.  He decided to write off the following as bad debts:

	
	$

	K. Kwong
	60

	H. Sing
	80


He further decided to make a provision for bad debts of 10% on the remaining debtors.

Debtors on 30 September 2008 totalled $10,000.  No bad debts were to be written off the following for the year but Young decided to maintain the provision for bad debts at 10%.

Show the entries for each of the years ended 30 September 2007 and 2008 in the following:

(a) Provision for bad debts account.

(b) Profit and loss account (extract).

(c) Balance sheet (extract).

	Provision for bad debts

	2007

Sep. 30
	Balance c/d
	$

1,186
	2007

Sep. 30
	Profit and loss account

[($12,000 - $140) x 10%]
	$

1,186

	
	
	
	
	
	

	2008

Sep. 30
	Profit and loss account

($1,186 - $1,000)
	186
	2008

Oct. 1
	Balance b/d
	1,186

	Sep. 30
	Balance c/f ($10,000 x 10%)
	1,000
	
	
	

	
	
	1,186
	
	
	1,186

	
	
	
	
	
	


	T. Young’s

Profit and Loss Accounts for the year ended 30 September (extract)

	
	
	$
	
	
	

	2007
	Bad debts ($60 + $80)
	140
	
	
	

	
	Provision for bad debts
	1,186
	
	
	

	
	
	
	2008
	Provision for bad debts (Reduction)
	186

	
	
	
	
	
	

	T. Young’s

Balance Sheets as at 30 September (extract)

	
	Current Assets
	$
	$
	
	

	2007
	Debtors ($12,000 - $140)
	11,860
	
	
	

	
	Less: Provision for bad debts
	1,186
	10,674
	
	

	
	
	
	
	
	

	2008
	Debtors
	10,000
	
	
	

	
	Less: Provision for bad debts
	1,000
	9,000
	
	

	
	
	
	
	
	


21.3 Accounting entries for provision for bad debts

When the decision has been taken as to the amount of the provision to be made, then the accounting entries needed for the provision are:

The year in which provision first made:

Debit:
Profit and Loss account with the amount of provision

Credit:
Provision for Bad Debts account

Example 3
As at 31 December 2003, the debtors figure amounted to $10,000 after writing off $422 of definite bad debts.  It is estimated that 2 percent of debts (i.e. $10,000 x 2% = $200) will prove to be bad debts, and it is decided to make a provision for these.  The accounts would appear as follows:

	Profit and Loss Account for the year ended 31 December 2003  (extracts)

	
	
	$
	
	
	$

	Bad debts
	
	422
	
	

	Provision for bad debts
	
	200
	
	
	


	Provision for Bad Debts

	2003

Dec 31
	Balance c/f
	$

200
	2003

Dec 31
	Profit and Loss account
	$

200

	
	
	200
	
	
	200

	
	
	
	2004

Jan 1
	Balance b/f
	200


In the balance sheet, the balance on the provision for bad debts will be deducted from the total of debtors:

	Balance Sheet

as at 31 December 2003 (extracts)

	Current Assets
	$
	$
	
	
	

	Debtors
	10,000
	
	
	
	

	Less: Provision for bad debts
	200
	9,800
	
	
	

	
	
	
	
	
	


21.4 Increasing the provision

Referring back to Example 3, assume that at the end of the following year on 31 December 2004, the bad debts provision needed to be increased.  This was because the provision was kept at 2 percent but the debtors had risen to $12,000.  Not included in the figure of $12,000 debtors is $884 in respect of debts, which had already been written off as bad debts during the year.  A provision of $200 had been brought forward from the previous year, but we now want a total provision of $240 (i.e. $12,000 x 2%).  All that is needed is a provision for an extra $40.


The accounting entries will be:

Debit:
Profit and Loss account

Credit:
Provision for Bad Debts account

	Profit and Loss Account for the year ended 31 December 2004  (extracts)

	
	
	$
	
	
	$

	Bad debts
	
	884
	
	

	Provision for bad debts
	
	40
	
	
	


	Provision for Bad Debts

	2004

Dec 31
	Balance c/f
	$

240
	2004

Jan 1
	Balance b/f
	$

200

	
	
	
	Dec 31
	Profit and Loss account
	40

	
	
	240
	
	
	240

	
	
	
	2005

Jan 1
	Balance b/f
	240


The balance sheet as at 31 December 2004 will appear as:

	Balance Sheet

as at 31 December 2004 (extracts)

	Current Assets
	$
	$
	
	
	

	Debtors
	12,000
	
	
	
	

	Less: Provision for bad debts
	240
	11,760
	
	
	

	
	
	
	
	
	


21.5 Reducing the provision

On the other hand, if we have to reduce a provision of bad debts, we would need a debit entry in the provision account.  The credit would be in the profit and loss account.  Assume that on 31 December 2005, in the firm already examined, the debtors figure had fallen to $10,500 but the provision remained at 2 percent (i.e. $10,500 x 2% = $210).  As the provision had previously been $240, then it now needs a reduction of $30.  Bad debts of $616 had already been written off during the year and are not included in the debtors’ figure of $10,500.  The double entry is:

Debit:
Provision for Bad Debts account

Credit:
Profit and Loss account

	Profit and Loss Account for the year ended 31 December 2005  (extracts)

	
	
	$
	
	
	$

	Bad debts
	
	616
	Provision for bad debts: Reduction
	30

	
	
	
	
	
	


	Provision for Bad Debts

	2005

Dec 31
	Profit and Loss account
	$

30
	2005

Jan 1
	Balance b/f
	$

240

	“ 31
	Balance c/f
	210
	
	
	

	
	
	240
	
	
	240

	
	
	
	2006

Jan 1
	Balance b/f
	210


The balance sheet as at 31 December 2005 will appear as:

	Balance Sheet

as at 31 December 2005 (extracts)

	Current Assets
	$
	$
	
	
	

	Debtors
	10,500
	
	
	
	

	Less: Provision for bad debts
	210
	10,290
	
	
	

	
	
	
	
	
	


Exercise 3
Solaris Company has been trading for several years.  At the end of each financial year, it is the practice of the company to make provision for doubtful debts at 2% of debtors.

As at 31 March 2004, the balances of the following accounts were:

Debtors



$30,000

No provision for doubtful debts had been made.

During the year ended 31 March 2005, the following transactions took place:

(a) Cash sales amounted to $17,000.

(b) Credit sales amounted to $20,000.

(c) Cheques received from debtors amounted to $16,000.

(d) Bad debts incurred $4,000 in total.

During the year ended 31 March 2006, the following transactions took place:

(a) Credit sales amounted to $38,500.

(b) Returns inwards from credit sales amounted to $1,500.

(c) Cheques received from debtors were $18,000.

(d) Bad debts incurred $2,600 in total.

Required:

Prepare for Solaris Company the following accounts for the year ended 31 March 2005 and 2006:

(a) Debtors account

(b) Bad debts account

(c) Provision for doubtful debts account

(d) Profit and loss account for the year ended 31 March 2005 and 2006 (extract)

(e) Balance sheet as at 31 March 2005 and 2006 (extract)

(Round off to the nearest dollar)

	Debtors

	2004

Apr. 1
	Balance b/d
	$

30,000
	2005

Mar. 31
	Bank
	$

16,000

	Mar. 31
	Sales
	20,000
	“
	Bad debts
	4,000

	
	
	
	“
	Balance c/d
	30,000

	
	
	50,000
	
	
	50,000

	2005

Apr. 1
	Balance b/d
	30,000
	2005

Mar. 31
	Returns inwards
	1,500

	Mar. 31
	Sales
	38,500
	“
	Bank
	18,000

	
	
	
	“
	Bad debts
	2,600

	
	
	
	“
	Balance c/d
	46,400

	
	
	68,500
	
	
	68,500

	
	
	
	
	
	


	Bad Debts

	2005

Mar. 31
	Debtors
	$

4,000
	2005

Mar. 31
	Profit and loss account
	$

4,000

	
	
	
	
	
	

	2006

Mar. 31
	Debtors
	2,600
	2006

Mar. 31
	Profit and loss account
	2,600

	
	
	
	
	
	


	Provision for Doubtful Debts

	2005

Mar. 31
	Balance c/d
	$

600
	2005

Mar. 31
	Profit and loss account

[($30,000 + $20,000 - $16,000 - $4,000) x 2%]
	$

600

	2006

Mar. 31
	Balance c/d
	928
	Apr. 1
	Balance b/d
	600

	
	
	
	2006

Mar. 31
	Profit and loss account

[($46,400 x 2%) - $600]
	328

	
	
	928
	
	
	928

	
	
	
	Apr. 1
	Balance b/d
	928

	
	
	
	
	
	


	Solaris Company

Profit and Loss Accounts for the year ended 31 March (extract)

	
	
	$
	
	
	

	2005
	Bad debts
	4,000
	
	
	

	
	Provision for doubtful debts
	600
	
	
	

	2006
	Bad debts
	2,600
	
	
	

	
	Provision for doubtful debts (Increase)
	328
	
	
	

	
	
	
	
	
	


	Solaris Company

Balance Sheets as at 31 March (extract)

	
	Current Assets
	$
	$
	
	

	2005
	Debtors
	30,000
	
	
	

	
	Less: Provision for bad debts
	600
	29,400
	
	

	
	
	
	
	
	

	2006
	Debtors
	46,400
	
	
	

	
	Less: Provision for bad debts
	928
	45,472
	
	

	
	
	
	
	
	

















The incremental amount of provision is charged to the profit and loss account.
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